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I 1x mwn: dispute nynan/y™ about Myw of eating a food banned by ny1aw for liability of 71 1% 1297
a introduction: explication of the 2->4o0f "1 ny1aw:
i future:I will eat (and doesn’t);  won’t eat (and does)
1 challenge: 9338 here means a commitment to eat, elsewhere it implies “I won't eat”
2 resolution: in our case, statement is self-generated, means what it says; other source is a response to host’s in-
sistence that he eat there.
(a) ww ’1. reads, there, 928 'RW> we don’t assume it to be an errant form of 9238w (commitment to eat)
ii  past:1ate (and didn’t); I didn’t eat (and did)
b 7w if he takes an oath not to eat (at all or a certain food, during some future duration) and eats, he is liable
i p”7 any amount ( "Rnw 93”)
ii  challenge (pn): there is no precedent for liability for eating a ®nw 9
iii response: there is also no precedent for someone saying words and having j27p-liability
IT  Analysis of km12: if he says "...R0an” - valid n»av; if he says "..q08” - valid ny1aw;
a and:if he says "1oR MMO>R”, then if "1>R” is valid, so is this
b challenge: condition at end ignores 2nd ruling
i answerl (72a8): 70X is a noann — if that is valid, then 70'% MR is also valid
1 source:Rvan-v.1
(a) challenge: then 7R is also a N»1aw (not a nvann) —v. 2
2 rather: sourced for 98 as nvann - v. 3
(a) challenge: then rvan is also a noann —v. 1
3 rather: RVIN is a Y12V per v. 4 —no mention of N2V — so RVaN generates the oath
ii  answer2 (827): ©ann is never good — RN»71 means: RVan is valid; 70’8 depends on how it was stated:
1 if:it was stated as a 971 — then itis a 1m
2 butif: it was stated as a "2w — then it is a ny1aw
(a) reason: the nmn placed "o R” between them in v. 3
iii note: they are consistent; »ar holds that n»awa vann=nyawv; r17 dissents
1 challenge: ruling that 9o refers to associating a fast (e.g.) with another fast,
(a) and 5Snipwadds: as long as that first fast was a 771 (i.e. the second one is a nvann)
(b) explanation: for »R, this is fine; noann works for ny1aw-> works for 9m
(i) but: for rav, this is a challenge
(ii) defense: read “what is an 971 970'R” —i.e. it defines a basic 9T as being grounded in 1y13n 727 (per v. 5)
(c) note: in that ruling, ar ya nnw oY is used as an index, along with np’nR 12 719573 72 NNV DY
(i) observation: »ar 12 nnw DV is obviously MTan 927; it was only brought due to 797 12 nnw v
1. justification: since we’re obligated to fast on 1571 D1y, even if he took a 7M1 it wouldn’t be consid-
ered a 11730 927 and noann wouldn’t be effective — 9"np
(d) mnote: 13V "1 agrees with R17 (that 7o' =np12w) as he ruled that either of Xvan or 7o°R constitute a N2V
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